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QUESTION 1

When comparing two differently grained facts directly against one another, the developer must:

A. either write a union query or two reports that roll both facts up to a common level

B. either roll up the lower grained fact to the higher level or allocate the higher grained fact to thelower level
C. declare determinants at multiple levels in the dimensions of a DMR Framework Managermodel

D. ensure that all conformed dimensions shared by the facts have the same number of levels

Correct Answer: B

QUESTION 2
A multi-server installation ofCognos Blmust be performed.
Which of the following is a validstrategy for installing across multiple servers?

A. Separate the gateway component from other server components to restrict report requestprocessing to the Web
server tier.

B. Enable dedicated request processing, by installing a dispatcher in the Web server tier to act asa primary dispatcher
for routing requests to other dispatchers.

C. Scale the system vertically by installing one instance of all Cognos 8 services on a largercomputer capable of
managing more concurrent request threads.

D. Enable load balancing of requests for content management services by installing multipleinstances of Content
Manager.

Correct Answer: B

QUESTION 3

Which of the following is true regarding hierarchies and dimensions?

A. Hierarchies help users understand the data through rollup levels within dimensions.
B. All dimensions must have hierarchies.

C. All hierarchies are defined by the inherent nature of their dimensional data.

D. It is considered poor design to split a hierarchy across multiple dimensions.

Correct Answer: A
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QUESTION 4
Which of the following is correct regarding the processing of a PageDown high affinity request?

A. The request is routed to the same process that served up the originating low affinity request ifthe process is available
and if there is an available high affinity connection.

B. The request is given priority and is always processed by the same process that served up theoriginating low affinity
request.

C. The request is load-balanced and is sent to any available dispatcher in the system.
D. The request is automatically queued and is processed by the first available low affinityconnection in the system.

Correct Answer: A

QUESTION 5

Which of the following BEST describes the relationship or differences between lterative Approachand Cognos SIM?
A. The lterative Approach is a specific technique used to iterate through the Design phase.

B. The Iterative Approach is a series of steps defined in the Analysis and Development phases ofCognos SIM.

C. The Iterative Approach is a philosophy of development while Cognos SIM is a collection oftasks, documents, and
techniques to guide development.

D. Cognos SIM is the current Cognos development standard and is intended to replace thelterative Approach for
development of Bl applications.

Correct Answer: C
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